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10:25 278 150.0 & =| 1Ri%@10:25 Bzh (RAHERESE)
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Warning: lcol [FVI',| "FVO’'] missing
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TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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05:45 278 150.0 FA| 1BRi&@05:45 B3 (KRAFEREE)
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24t 3336.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

MEREHERE STHEARS (179.0 : 145.0), AIREETF—®E XAH5
BRI\ SEPRGERL145. 0 ml.

REXEEBIEC (2660.0) 5i&EEC (2000.0) REKR K, BFEE

[B]/&EC 5655.0 K5, EINF{KECAE&AEERR

# B KECE (2660.0 vs 5655.0) 15
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16:35 273 150.0 F BRige16:35 Bz (GRAERESE)
24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

MEREHERE STHEARS (179.0 : 145.0), AIREETF—®E XAH5
BRI\ SEPRGERL145. 0 ml.
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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